Mother's Arithmetic * Compound Interest

Compund interest (Type-11)

On a certain Principal if the Simple interest
for two years is ¥ 2400 and Compound interest
for the two years is ¥ 2544, what is the rate of
Interest?

Torelt gorem W afs < auf 1 WERw =@ 2400 %, i
ThIlG N 2544 . T, 9 e K ha © 2

(A) 12 percent/ Ufae@  (B) 6 percent/ s
(C) 24 percent/ ufas@ (D) 18 percent/ Ufdasm
On a certain Principal the Simple interest for
two years is ¥ 2600 and Compound interest for

the two years is ¥ 2769, what is the rate of In-
terest?

TRt Ferem R e QS o WIER0 A T 2600 ST TS,
=1 X 2769 &, A1 =TT <X fohat & 2

(A) 6.5 percent/ i@

(B) 26 percent/ i3

(C) 19.5 percent/ ufasma

(D) 13 percent/ wfasm

A sum becomes ¥ 2916 in 2 years at 8% com-
pound interest rate. What is the simple inter-
est charged on same sum for 3 years at 9% per
annum?

T T 8% Tfrerd =rshafs AT shi A 2 T | T 2,916
T ST R | SH TR 9% Hicror HremRor =411 =i SUH 3 =

% fo & s g ?
(A) T 600 (B)% 675
(C) % 650 (D) T 625

If CI on sum for two years at a rate of 12% per
annum is ¥ 2544, then what will be the SI on
same rate for 2 years?

I TR SRR TR S ol B 12% it T E whag ST T
2,544 B, q1 S R 2 T oh1 HIER 1S TSR SR ?
(A) ¥ 2400 (B)%¥ 2500

(€)X 2480 (D)X 2440

The simple interest on a sum of money for 3
years is ¥ 240 and the compound interest on

the same sum, at the same rate for 2 years is
¥ 170. The rate of interest is—

et o Tf¥r 3 o 1 Tremer S T 240 ¥ SR sE
AN TR 2 o /1 TE W W TG AL 170 T | A
FRFNE?
(A) 12.5% (B) 5%

1
(C) 8% (D) 29¢

6.

10.

The compound interest on a sum of money for
3 years at rate of 5% p.a. is ¥ 1324.05. What is
the simple interest ?

Tt FoRet emafsr W 3 =l | 5% it ofte R W =hals s
% 1324.05 T 7, ot SR st fahaen g 2

(A)Z 1260 (B) T 1262.75

(C)% 1258.75 (D)X 1261

If the compound interest on a certain sum for
two years at 12% per annum is ¥ 2544. The

simple interest on it at the same rate for 2 years
will be—

fopett e WX 2 o & T 12% =i =amet &t O R =shats
61 T 2544 %, © | SH o9 T HHA o ST THE T %

o Tnemr <= R g 2
(A) T 2400 (B) T 2500
(C) T 2480 (D) T 2300

The compound interest on a certain sum for 2
years at 10% per annum is ¥ 525. The simple
interest on the same sum for double time at
half rate percent will be ?

Torelt TR T 10% =Ttk %l S H 2 99 1 =hdfG e <
525 % | S8 f¥ W g wH % fore anfifer <X i emedt

T TR HIYR 7S] Taha1 2T 2
(A) X 520 (B) T 550
(€)X 500 (D)X 515

SI and CI (Compounded annually) on a certain
sum at certain rate for 2 years is ¥ 900 and ¥

954 respectively. Find the sum.
Foreft w3 forett <1 Tt <X | 2 o % Tremer S qen

=ehatg = (anfis w9 | Tenfed ) At 900 qen 3954
? |9 g 8 —

(A) T 3700 (B) %3650

(C) ¥ 3850 (D) 3750

CI on a certain sum at certain rate for 2 years
is ¥ 2050 and SI on same sum for 3 years is

3000. Find the sum?

Tt fafymm emfs w w Ffya @ anffss @ < o =
=hAfG <A T 2,050 § ST S €T Sie W T W Y
3 9 o1 TR = 3 3,000 ®, 9 et eeaid R © 2
(A) ¥ 20,000 (B)X 18,000

(C)T 21,000 (D)% 25,000
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Mother's Arithmetic * Compound Interest

11.

12.

13.

14.

Simple interest on a certain sum of money for
3 years at 14% per annum is halfthe compound
interest on ¥ 10000 for 2 years at 10% per an-
num. The sum placed on simple interest is—

14% Sftes =ATS1 wht W H 3 991 & fou ww ffvea ofe =
TIER SATST 10% S <A1 Tt S H 2 a9i & ferw T10000
Y T T =hfg &I | ST § | WU = 1 S

f¥r feraft 2 2
(A) T 5000 (B) T 1250
(C) 2000 (D) T 2500

Mr. Yogendra invested one half of his savings
in a bond that paid simple interest for 2 years
and received ¥ 550 as interest. He invested
the remaining in a bond that paid compound
interest. Interest being compounded annually
for 2 years at the same rate of interest and
received ¥ 605 as interest. What was the value
of his total savings before investment in these
bonds?

AT RS A ST9AT S=Id BT ST 9T U -8 & ®9H 2
o9 % ToTT TTEReT <ATST S T W ST SR T SIS o Y
H T 550 Tt qer o= gt &9 Tk o 91vs § 2 94 % fag
Ft aftieh =ha s STt ot o & ST LA G SE S ki
WA IFH T 605 AN & ©9H Ui {9, 9 <A1 sivst |4

G ST SHET | U S9! S=d 4 ot ?
(A)Z 2750 (B) T 3000
(C) % 3750 (D)X 1375

A certain sum of money increased to 219.7% of
its value at a certain rate of compound inter-
est, compounded annually in three years. If the
same sum is lent at simple interest at the same
rate of interest, in how many years would it
become seven times of itself ?

= g SFTT i Wl B ekl ST W W ST ST
H 219.7% B St €, A THA SR RO S hi
TAM R R s T o T & 7 T8 S ?

(A) 30 (B) 22

(C) 24 (D) 20

The difference between the CI and SI on a cer-
tain sum at 12% per annum for two years is ¥

90. What will be amount at the end of 3 years
on compound interest?

3 T & CI 3 ST % o= =l 37X 2 90 7, 91 3 | 915

It =eRg TG <ATet O SRS fopait 21 Smae 2
(A) 8780.80 (B) 8870.70
(C) 7870.80 (D) 8708.80

15.

16.

17.

A sum of money was invested for 14 years in
scheme A which offers SI @ 8% p.a. The amount
received from scheme A after 14 years was the
invested for 2 years in scheme B which offers
CI @ of 10% PA. If the interest received from
scheme B was ¥ 6678. What was the sum in-
vested in scheme A?

g o7 14 T8 % fou wrm A o e fean o) oo
8% e TTERT ST Tl W <A T | T T et o i
2 o % fau 6| B H 10% ot =ehgfs = & 8
fRu T T IS IR A BA AN F &4 T 6678
firer, 1 <o A § et 1fsn omg S 2

(A) T 19000 (B) T 16000

(€)% 17000 (D) ¥ 15000

The simple interest on a sum of money at 10%
per annum for 2 years is ¥ 8,100, Compounded
annually. What would be the compound inter-
est (in %) on the same sum for the same period
at the same rate of interest ?

ToRE &I TR 10% STtk & 7R 2 =% ol S8 =1t
8,100 ® | =A7ST #ht IO AT =ehates STER W 1 g,

TEF T T, T R R TAE T79 | U6 ThJ (G AT J1d

Gl (CPO - 2020)
(A) 8,100 (B) 8,505
(C) 8,715 (D) 9,000

A sum of ¥ 7,500 amounts to ¥ 8,748 after 2
years at a certain compound interest rate per
annum. What will be the simple interest on the

3
same sum for 45 years at double the earlier

interest rate ?
T 7,500 i Ul we tfyea anfie wshafs =1 w2 o
% oS TG T 8,748 T S T | Tt whi o411 T it ST

wH 4% o % forn SE Ui W Hem =S A B 2

2 July, 2019 (Shift : II)
(B)% 5,520
(D)% 2,670

(A)Z 4,140
(C)Z 8,180
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Mother's Arithmetic * Compound Interest

Solution

(B)

A)

SL ClL
1*year 1200 1200
2" year 1200 1200 + A

A=ClI. on1*"year's interest
So, A=1344-1200 =144

So, Rate = 1200 x100=12%
SI. CIL

I*tyear 1300 1300

2 year 1300 1300 + A

A=ClI. on1*"year's interest
So, A =1469 -1300 =169

So, Rate = —22 x 100 = 13%
O R = 1300 B

R, oncompound interest for 2 years = 16.64%
Amount =100 + 16.64 = 116.64 %
R, on simple interest for 3 years

=9x3=27%
Required S.I. = 6 x 27 =675
equired S.I. = 75~ =
Effective rate on compound interest for 2 years
7 12x12
= 12+12+
100
= 25.44%
Effective rate on simple interest for 2 years =24%
. 4
Required S.I. = 2544 24 =%2400

240
S.I. for 1years = 3 " %80

S.I. for2year =2 x 80 =160
Diff. for 2 year = (170 - 160) =% 10

10 1
% = — =12=-%
Rate % 80><100 5 o

ATQ,
Reff. for CI =15.7625%
Reff forSI =15%

|_1324.05
So,51= 157625
-31260

Reff. for C1=25.44%
Reff for CI1=24%
ATQ,
- 2544
T 25.44

X 24 =3 2400

8.

10.

11.

12.

© R_ofCIL=21%

(D)

A)

D)

R, of S.I = 4x 5=20%

525
Required S.I. = === 20=% 500
S.I ClL
900
Of first year - = 450 450
Ofsecond year 450 450 + A
(First year interest of 450.)
= 900+A = 954
= A = 54
54
= —x100
S0, R = 450"
= 12%
3 Principal = S.I.x100
L HRCPA = Timex Rate
900x100
= ——=13%37
2x12 3,750

Simple interest of 3 years =3000 Rs. then Simple
interest of 2 years = 2000 Rs.
When Compound interest of 2 years is 2050 Rs.

50
ThenR = ﬁxwo-m

1000 x 100
5
Effective rate for compound interest =21%

ATQ,
xx14x3 1 10000><21><1j
100 2 100
= x =2500
Let total amount of savings = 2x

Amount interest in bond 1st = x
Difference of CI - SI = 605 - 550 =% 55

So, Principal = =¥ 20,000

0
=275

1 year Interest = 9

55x100
Rate of interestR= ——=— =20%

275
Amount in Ist bond
_ 550x100 1375
T 20x2

Total savings before investment = 2x
=2 x1375=% 2750
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Mother's Arithmetic * Compound Interest

13. (D) ATQ, 16 8100 Px10x2
3 - B 100
P[1+Lj = 2197P P = Z 40500
100 :

10
C.I. = 40500 x 100 = 4050 x 2 = 8100

r 3
1+ —| = 3
= [ 100] (1.3) 10
4050 x —— = 405 x 1 = 405

100
1 ! S ocnE
=1+ 100 = 1.3 % 8505
=r=30% 17. (B) Asweknow,
Let the required time period be t years Amountafter 2 years R 2
Px30xt . Present Amount ( ﬁj
o0 - 6P (Here interest = 7P - P = 6P)
8748 [ R jz
—=|14+—
. 600 0 7500 100
=t= —— =20years
» (10 2
14. (A) ATQ 625 100
90 = P(12)2/ (100) 7 R
P = 6250 27100
12 Y 27 j 2
= " =|—=—1{x100=—=x100 =89
So, A =6250 (1+100j R (25 5 8%
— A =6250 x (1.12)° =ATQ
= 8780.80 (SI). = 7500x16 %23
5 5x100
15. (D) Scheme A =15 % 16 x 23 = 5520
Let principal = 100
t=14yr
R=8%
So, SI=100x 28 _ 119
& =T 100
Amount =212
Scheme B

t = 2 year; R=10% CI
Eff. Rate =21%

Interest = 2212 _ 5678 = 1 =
nteres 100 =
6678 x100

21x212

So, investment in Scheme A =

1 SToAa s <1 1 15
= X X =
00 1% 212 00 x 100 000
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